PROBLEM SET 1 FOR 18.102, SPRING 2020
BRIEF SOLUTIONS

RICHARD MELROSE

1. PROBLEM 1.1

Write out a proof for each p with 1 < p < oco that

P = a:N—)(C;Z|aj|p<oo, a; = a(j)
j=1

is a normed space with the norm

oo
lallp = | la;|?
j=1

This means writing out the proof that this is a linear space and that the three
conditions required of a norm hold. Note that the only ‘tricky’ part is the triangle
inequality for this all you really need in the way of ‘hard estimates’ is to show that
(for all V)

1
P

1
P

N
(1) Z la;|P is a norm on CV.
j=1

I'm expecting that you will look up and give a brief proof of (1).

Solution: We know that the functions from any set with values in a linear space
form a linear space — under addition of values (don’t feel bad if you wrote this out,
it is a good thing to do once). So, to see that I? is a linear space it suffices to see
that it is closed under addition and scalar multiplication. For scalar multiples this
is clear:-

(2) [tas| = [t||ai so |[tall, = [tl[lall,

which is part of what is needed for the proof that || - ||, is a norm anyway. The fact
that a, b € [P imples a + b € [P follows once we show the triangle inequality or we
can be a little cruder and observe that

|ai + bil” < (2max(|al;, [bi]))” = 2 max(|alf, [b:[”) < 2°(Jai[” + [bi]”) so
®) la+0l5 = la; +bif? < 2°(llall? + [|b]}5)

J

where we use the fact that ¢P is an increasing function of ¢ > 0.
Now, to see that IP is a normed space we need to check that ||al|, is indeed a
norm. It is non-negative and ||al|, = 0 implies a; = 0 for all ¢ which is to say a = 0.
1
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So, only the triangle inequality remains. For p = 1 this is a direct consequence of
the usual triangle inequality:

(4) la+blls =Y lai + il < (lail + [bil) = llally + [1Bl]1-

For 1 < p < oo it is known as Minkowski’s inequality. This in turn is deduced
from Holder’s inequality — which follows from Young’s inequality! The latter says

if1/p+1/¢g=1,s0 q=p/(p—1), then

P q
(5) <y va >0
p q
To check it, observe that as a function of o = =,
P B4
6 flz)y=——268+—
(6) (z) ) .

if non-negative at x = 0 and clearly positive when x >> 0, since zP grows faster
than x8. Moreover, it is differentiable and the derivative only vanishes at zP~! =
B, where it must have a global minimum in = > 0. At this point f(z) = 0 so
Young’s inequality follows. Now, applying this with & = |a;|/||a||, and 8 = |b;|/]6]l4
(assuming both are non-zero) and summing over 4 gives Holder’s inequality

lai[P [bi]?
1> aibil/llallpllblly <D laillbil /llallp b, < < i) = 1
i i i 4

llallpp
= |Zaibi\ < llallpllbllq-
i

(7)

Of course, if either ||a|l, = 0 or ||b||q = 0 this inequality holds anyway.
Now, from this Minkowski’s inequality follows. Namely from the ordinary trian-
gle inequality and then Minkowski’s inequality (with ¢ power in the first factor)

(8) Z|ai+bi\p:Z\ai+bi|(”_1)|ai+bi|
i 1

< Z la; + b;| PV a;| + Z |a; + b;| P~V |y

1/q
S (Z |a; +bi|”> (lallp + 115ll4)

gives after division by the first factor on the right
(9) lla+bll, < llall, + [0l

Thus, [P is indeed a normed space.

I did not necessarily expect you to go through the proof of Young-Holder-
Minkowksi, but I think you should do so at some point since I will not do it in
class.

2. PROBLEM 1.2

Prove directly that each P as defined in Problem 1.1 is a Banach space.

Remarks (for those who need orientation): This means showing that each Cauchy
sequence converges; you need to mentally untangle the fact that we are talking
about a sequence of sequences. The problem here is to find the limit of a given
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Cauchy sequence. The usual approach is show that for each N the sequence in CV
obtained by truncating each of the elements (which are sequences) at the Nth term
gives a Cauchy sequence with respect to the norm coming from (1) on C. Show
that this is the same as being Cauchy in CV in the usual sense and hence, this
cut-off sequence converges. Use this to find a putative limit of the Cauchy sequence
and then check that it really is the limit. You need to put all this together.

So, suppose we are given a Cauchy sequence a(™ in IP. Thus, each element is a
sequence {a§-n)};?';1 in [P. Now, each entry in a vector in [? is bounded by the norm,

S0 \ag-n)\ < [|a™]|, and the same applies to the difference, so for each fixed j,
1) 0" = 0™ < ™ — o™

and it follows that a;-”) is a Cauchy sequence in C, hence convergent. Let a; =

lim,, 0 ag-") be the limit. Our putative limit is a, the sequence {a;}$2,. The bound-

edness of the norm of a Cauchy sequence shows that for some constant A such that
a™||, < A for all n and N,

N

(2) S faiMr < Ar.

We can pass to the limit here as n — co since there are only finitely many terms.
Thus

N
(3) > Jail? < AP Y N = [a, < A.

i=1
Thus, a € [P as we hoped. Similarly, we can pass to the limit as m — oo in the
finite inequality which follows from the Cauchy conditions

1

N P
(4) (Z ja{™ — a§m>|p> <e/2
=1

to see that for each NV

N 5

(5) (Z ja™ — ) <e¢/2
i=1

and hence

(6) a™ —a| <eV¥n>M.

Thus indeed, a(™) — a in [P as we were trying to show.
Notice that the trick is to ‘back off’ to finite sums to avoid any issues of inter-
changing limits.

3. PROBLEM 1.3
Consider the ‘unit sphere’ in [P. This is the set of vectors of length 1 :
S={acl?|al, =1}

(1) Show that S is closed.
(2) Recall the sequential (so not the open covering definition) characterization
of compactness of a set in a metric space (e.g. by checking in Rudin).
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(3) Show that S is not compact by considering the sequence in P with kth
element the sequence which is all zeros except for a 1 in the kth slot. Note
that the main problem is not to get yourself confused about sequences of

sequences!
Solution:
The norm on any normed space is continuous since
(1) izl = llylll < [le =yl = d(=,y)

is the ‘reverse triangle inequality’. The inverse image, .S, of the closed set {1} C R
is therefore closed.

Now, the standard result on metric spaces is that a subset is compact if and only
if every sequence with values in the subset has a convergent subsequence with limit
in the subset (if you drop the last condition then the closure is compact).

In this case we consider the sequence (of sequences)

(2) o™ = {0 iFn

! 1 i=n

This has the property that ||a(™ — a(™)|, = 27 whenever n # m. Thus, it cannot
have any Cauchy subsequence, and hence cannot have a convergent subsequence,
so S is not compact.

This is important. In fact it is a major difference between finite-dimensional and
infinite-dimensional normed spaces. In the latter case the unit sphere cannot be
compact whereas in the former it is.

4. PROBLEM 1.4

Now define [*° as the space of bounded sequences of complex numbers with the
supremum norm,

(1) [blloc = sup [ba], b= (b1,b2;...), by € C.
Show that each element of [°° defines a continuous linear function(al) on ! by
‘pairing’

(2) Fy(a) = bnan, a€l', bel®

Solution: First of all, the series Y b,a, converges absolutely: it is majorized
n
by the convergent series > ||b||oo|an| = ||b]lco - ||a||1- The linearity of Fy(-) is also
n
straightforward:

Fy(Aa+Na') =Y (Abpan+XNbpal) =AY bpan+ XY bpay, = AFy(a)+ N Fy(d).

n

We're left with the continuity; recall that for linear functionals this is equivalent to
finding a constant C (perhaps depending on b) such that |Fy(a)| < C|la|; for all
a € ¢*. Indeed, we have

[Fo(@)| <Y [ballan] < Jlloc - llalls.

n
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5. PROBLEM 1.5

Consider the function

(1) 1= €% — [0,00), [[v]| = Jval, v = (v1,v2).
Show that this is a seminorm. Find the subset S C C? on which || - || vanishes and
show that W = C2/S is a linear space on which || - || defines a norm.
Solution: The triangle inequality on C shows this is a seminorm — it is non-
negative, ||cv|| = |cvz| = |e||vz| = |¢]||v]], and
(2)
[[(v1, v2)+(we, wa) || = [[ (V1 vz, w1, w)[| = |vatwa| < fva|+[wa] = ||(vr, v2) [+ (wr, wa)-
If ||jv]| = O then vy = 0 and conversely so the subset S is therefore the linear

subspace {(v1,v2)} C C2.

The space C?/S is linearly identified with C by mapping v, € C to the equiv-
alence class, {(z,v2);2z € C} of (0,v2) € C/S and the seminorm is identified with
the norm on C.

6. PROBLEM 1.6[EXTRA]

Show that [*° is the dual space of I*, namely that every bounded linear functional
on I! is given by pairing with a unique element of [*°.

Solution: Given a bounded linear functional F : ¢! — C, we’d like to find a
bounded sequence b = (by,by,...) € £ such that F = F,, in the notation of
Problem 1.4. It is easy to guess what the candidate for b should look like; for a
functional Fy the i-th term of the defining sequence can be reconstructed as Fj(e;),
where e; denotes the sequence with the only 1 in the i-th position and the rest filled
with zeroes.

So, start with a bounded functional F, such that |F(a)| < Clla||; for all a € ¢1.
Consider the sequence b = (F(e1), F(e2),...). It belongs to £°°, since |F(e;)| <
Cllei]l1 = C. Now for every a = (ay,as,...) € ! one has

N
Fa)=F | 1l
(Cl) <Ng>noo Z:l an€n>
N
contin. .
=1 F
Ngnoo <z_:1 an€n>

N
= lim ZanF(en)
n=1

N —oc0

(o)
= Z anF(en),
n=1

so F'is indeed given by pairing with b.

7. PROBLEM 1.7[EXTRA]

Construct a non-continuous linear functional on a normed space.

Discussion. This is pretty easy if you don’t demand that the normed space be
complete. Take for instance the linear space of all terminating sequences of complex
numbers — so each element is a finite sequence, or arbitrary length, followed by zeros.
This is a subspace of each of the [P spaces and is dense if p < 0o. Now, take for
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instance the {2 norm, which gives you a normed space — not complete of course.
Then take as linear functional the sum of the terms of the sequence. This can be
seen NOT to be bounded with respect to the (%> norm.

Now, if you want to do this for a Banach space — and I did not ask that — then
it is much harder work.

Solution: Following the hints above, define L to be the space of terminating
sequences (a; € C)2; with the /2-norm. The functional

F:L—-C
(@) = > a;
is clearly well-defined and linear. Suppose that F is bounded, that is |F(a)| <
C||a||2, and plug in the sequence a(™ = (1,...,1,0,0,...):
~——
n units
n=|F(a™)| < Clla™|y = Cyn.
This gives a contradiction for large n.
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